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Il Semester B.Com. Examination, Nov./Dec. 2016
(CBCS) (Semester Scheme)
(2015-16 and Onwards) (F+R)
COMMERCE
3.4 : Financial Management

Time : 3 Hours Max. Marks : 70

Instruction: Answer should be written completely either in
English or in Kannada.

SECTION-A

AnsWer any five sub-questions. Each sub-question carries two marks : (5%2=10)
1. a) Define the term financial management.

b) What do you mean by trading on equity ?

c) Give the meaning of capital structure. &

d) What do you mean by stock dividend ?

e) What is net present value of a project ?

f) Distinguish between discounting and compounding.

g) Ifaninvestor expects a perpetual sum of ¥ 500 annually from his investment,
what is the present value of the perpetuity, if the time preference rate is 20% ?

SECTION-B

Answer any three questions. Each question carries six marks : (3x6=18),
2. Mention the need for financial planping.
3. Mention the functions of a finance manager.

4. Profitability index 1.1235 _‘
Present value of cash outflow< 1,00,000
Present value of annuity of ¥ 1 for 4 years at 10% discount is 3.159
Calculate the present value of cash inflow and annual cash inflow.

P.T.O.
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5. Consider the following date of XYZ Lid.

4
Selling price per unit 60
Variable cost per unit 10
Fixed cost 3,00,000
Interest burden 1,00,000

Calculate operating leverage and financial leverage if the number of units
sold is 10,000 units.

~ 6. ABC Lid. is considering 2 alternatives. The first alternative costs X 12,000 and
the estimated annual cash inflow from it amounts to ¥ 4,000. Its economic life is
5 years. The second alternative costs ¥ 10,000 and its estimated cash inflow is
also X 4,000 p.a. Its economic life is however only 4 years. Advise the management
by using ‘Pay back period’. :

SECTION-C

Answer any three questions. Each question carries fourteen marks : (3x14=4'2)

7. What is working capital ? Discuss the importance of adequate working capital.
8. What is dividend policy ? Discuss the various forms of dividend.

9. A company has EBIT of ¥ 4,80,000 and its capital structure consists of the
following securities.

3
Equity share capital (X 10 each) 4,00,000
12% preference shares 6,00,000
14.5% debentures 10,00,000

The company is facing fluctuation in its sales.

What would be percentage change in EPS

a) If EBIT of the company increases by 25% ?

b) If EBIT of the company decreases by 25% ? The company tax rate is 35%.
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10. A Ltd. company has under consideration the following two projects.

1

The details are as under :

Project X
Investment in machinery ¥ 10,00,000
Working capital %5,00,000
Life of machinery 4 years
Taxrate 50%
Scrap value 10%
Income before depreciation and tax 3
| year 8,00,000
Il year 8,00,000
Il year 8,00,000
IV year 8,00,000

* Vyear -

Vi year -

ProjectY
X 15,00,000
¥5,00,000
6 years
50%

10%

T
15,00,000
9,00,000
15,00,000
8,00,000

6,00,000 :

3,00,000

Calculate ARR and suggest which project is to be preferred.

Initial cash outlay will be :

Plant and machinery % 2,70,000
Working capital 340,000
3,10,000

NS —-422

. M Ltd. wishes to instal a machining in rented premises for the production of a
component, the demand for which is expected to last for only 5 years.

The working capital will be fully realised at the end of the 5" year. The scrap
value of the plant to be realised at the end of the 51" year is % 5,000. The expected

cashflows from business operations are :

Year Cash flow P.V. factor at 15%
1 70,000 0.8696
2 1,00,000 0.7561
3 1,30,000 0.6575
4 90,000 0.5718
5 15,000 0.3932

Calculate the Net Present Value (NPV) of the project using P.V. factor at 15%.
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Il Semester B.Com. Examination, November/December 2017
(CBCS) (Semester Scheme)
(2015-16 and Onwards) (F + R)
COMMERCE
3.4 : Financial Management

Time : 3 Hours Max. Marks : 70

Instruction : Answer should be written completely either in Engiish or
in Kannada.

SECTION-A
Answer any five sub-questions. Each sub-question carries two marks. . (6x2=10)

1. a) Give the meaning of Finance.
b) Define FinancialManagement.
c) What is time value of money ?
d) Expand EAT, EBIT and PAT.
e) What do you mean by investment decision ?
f) What is dividend decision ?

g) Calculate the future value of a sum of ¥ 1,000 if it is invested at 8% interest
for a period of one year.

SECTION-B
Answerany thfee questions. Each question carries six marks. (3x6=18)
2. Explain the steps in Financial Planning.
3. Explain the need for time value of money.

4, Calculate the future value at the end of five years of the following series of

payments at 10% rate of interest :

% 4,000 at the end of 1Styear

¥ 5,000 at the end of 2" year

¥ 6,000 at the end of 3" year

% 7,000 at the end of 4t year

¥ 8,000 at the end of 5" year

P.T.O.
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5. Calculate operating leverage and financial leverage from the following :
Sales —¥ 1,00,000 at¥ 5 per unit
Variable cost - 1 per unit
Fixed cost -% 1,00,000
Interest expenditure — 20,000.

6. Rajesh and Co. is considering the purchase of a machine.

Two machines A and B each costingI 50,000 are available. Cash inflows are
expected to be as under. Calculate payback period :

Years Machine A Machine B
1 15,000 5,000
2 20,000 15,000
3 25,000 20,000
4 15,000 30,000
5 10,000 20,000
SECTION-C
Answer any three questions. Each question carries fourteen marks. (3x14=42)

7. Explain the factors influencing capital structure.
8. What are the principles of sound financial planning ?

9. Compare two companies in terms of its financial, operating and combined

leverages :

Particulars " Firm ‘A’ Firm ‘B’
Sales ¥ 20,00,000 ¥ 30,00,000
Variable cost 40% of sales 30% of sales
Fixed cost - ¥5,00,000 X 7,00,000
Interest 31,00,000 31,25,000

Interpret the results of the firms.
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10. A firm whose cost of capital is 10% is considering two Projects X and Y, the
details of which are

11.

Investment
Cash inflow :
| year
Il year
Il year
IV year
Vyear
Total

Project ‘X’ inX

1,00,000

20,000
30,000
40,000
50,000
60,000
2,00,000

Project 'Y’ inX

1,00,000

45,000
40,000
30,000
10,000
8,000
1,33,000

Compute the internal rate of return for the two projects separatly. Project X by
20% and 29% and Project Y by 9% and 15%. Use the following discount for

calculating IRR.

Years

’
2
3
4
5

Cash flow of X project are given below :

Year

SWw N =

5

Project X Project Y
20% 29% 9% 15%
0.833 0.775 0917 0870
0.694 0.601 0.842 0.750
0.579 0.466 0.772 0.658
0.483 0.361 0.708 0.572
0.402 0.280 0.650 0.497
Cash flow PV factor at 10%
20,000 0.909
30,000 0.826
60,000 0.751
80,000 0.683
30,000 . 0.621

The salvage value at the end of 51" year is ¥ 40,000. Calculate the Net Present

Value.
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CIRFTRE3R DT YUB-BINER GUBOR. B TIN AT LOBNT. (5%2=10)

1. a) BTN WFFE, BRA.
b) BeaBoRE JWFBESOD), WYETYAR.
C) R RROOD B ROTTEI ?
d) EAT, EBIT®)PATOR0R.
e) DAC3PEN VedF OB/, Qe Bert STFRID0 ?
f) ©ogR08 LaF 03 DOTTERD ?

g) ¥ 1,000 333 8 O LRoDe3 2003 RRF TIORGN DV03RNITS 0T PIRT
BRYTY, FoBOLRREOWD.

TN - W
39N CIRRYTOTTR B BIR 0308, T3 T 8380 o3, (3x6=18)
2. BeovtoRd 03RS0 BB, DZOR.
3. BB ADON BRYT SHJTINTR, OHOR.

4. 833N NTES TTWIOD, TS RIRFS BRSO 3e3RE 10 2B TBSRTT, 20T
SRENY EOTHOID, LT LR, BT FoBOERCD.

% 4,000 SpmO8D BRFS LoBTO,
% 5,000 S0RH0DH BRFE BFTY,

% 6,000 B0303 BRFB WO,
3 7,000 SpgS0d BRES BT,

% 8,000 &BS03 SRS 2033,
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5. B ENIYnPon O30 230 SSers BB BEOTORT BB NI Fomr%R00:
SR02Es ~¥ 1,00,000 B g T 5
BOTOTIED D23 - B P < 1
ﬁ:&d a0r % 1,00,000
& 02 —T 20,000.

6. Toxen® a2 BoBRCID 2.0 Qi:ogaa’a‘gl DRV TONETROSTS. 000 A &
0308 B 8> 0300816 2363 T 50,000. 85D 2IBOY) B2 FNTS QOEFRODNG, &o0ToRE
eﬁd@o:bdl FOBOEEROD.,

- SRened 0303, A ooz B
3 X
1 15,000 5,000
2 20,000 15,000
% 25,000 20,000
4 15,000 30,000
5 10,000 20,000
RNWIN - 2

CIRYTOTTR T8 TInen evgon. B8 =31 TRTOLY, 0B, (3x14=42)

7. WO B3I Peoss WIS ©OBNII) DTOR.

8. z’g:jp BEITORD 03P e 38 N 9

9. T ioaa’a)rf%*dgt LING T30 23053 202 F0030e228 ORBeT NS 300238 2ocdE

R

NTTRL : ﬁoza; D zﬁoz‘s; W

IR0V %20,00,000 % 30,00,000
[Zobd RO, QUDETIE BRooT40%  SRoET30%
i'%d DN ¥ 5,00,000 X 7,00,000
AL~ < 1,00,000 ¥ 1,25,000

#o%ﬁ%* ﬁ@@oﬁﬁfﬁﬁi O,
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10. 20RO 33, O oSrexd X So)Y 33810 T 200 BTN TONERET,
IS DRTT B3 068 BT -

QRTAEO o3nems X odnems ‘Y’
4 3

aR03men 1,00,000 1,00,000
SRR L.YBOR):

| IR 20,000 45,000

Il 3= 30,000 40,000

I SR 40,000 30,000

IV S8 50,000 10,000

V SR | 60,000 8,000

282 2,00,000 1,33,000

ed
A0RR C3PexEne o308 BIFOR TOTRY, TFBTN FoB®HAWD. oIS X
63820 S3) 3¢8 29 Tone odeexs Y 363 9 FB Iee 15. S5 3N D3RO0
2083 LIFRERORD 50308 DTTF OB, FORIZEOD.

odnpemsd X odnems Y
IRETE0 20% 29% %% 15%
1 0.833 0.775 0.917 0.870
2 0.694 0.601 0842  0.750
3 0.579 0.466 0.772 0.658
4 0.483 0.361 0.708 0572

5 0.402 0.280 0.650 0.497
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1. odrexd X 8 3nmd TOY) B3 B8 BRBOINT -

SRened SRTOY 2. D T Bewm 10 Bod
§ 3
1 20,000 0.909
2 30,000 0.826
3 60,000 0.751
4 80,000 0.683
5 30,000 0.621

0T ms—o%dg dgfjd da’ae% T 40,0003, R}aéf;' 3’3:’33 a“sz‘ae%m:‘;{ BOTILER0D.
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Il Semester B.Com. Examination, November/December 2018
(F+R) (CBCS) (Semester Scheme)
(2015 - 16 & Onwards)
COMMERCE
3.4 : Financial Management

Time : 3 Hours Max. Marks : 70

Instruction : Answer should be written completely either in Kannada or
English.

SECTION — A

Answer any five sub-question. Each sub-question carries two marks. (5%x2=10)

i a)‘ What is financial leverage ?
b) What is wealth maximization ?
c) What do you mean by stock dividend ?

d) Calculate the present value of ¥ 40,000 received after 5 years, if the discount
rate is 10%.

e) State four components of working capital.

f) Initial investment of ¥ 10,00,000, residual value % 2,00,000, working life is
5 years, additional working capital ¥ 1,00,000. Calculate average investment.

g) Name the two models used for valuing equity shares.

SECTION - B

Answer any three questions. Each question carries six marks. (3x6=18)
2. Briefly explain the various forms of dividend.
3. Mention the functions of financial management.

P.T.O.
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4. The following information is available in respect of a product :
Units sold — 60,000
Sales price per unit—3% 12
Fixed cost — ¥ 60,000
Variable cost — X 6 per unit
10% debt capital of ¥ 1,20,000
Calculate all the types of leverages.
5. A bank manager offers a scheme in which Mr. Mallesh gets ¥ 1,000, ¥ 2,000,
X 3,000, X 4,000, ¥ 5,000 at the end of each year for a period of 5 years at the

discount rate of 9% for a lump sum deposit of T 12,000. Is it advisable to invest
% 12,000 to Mr. Mallesh ? Advise him.

6. The initial cash out lay of a project is ¥ 1,00,000 and it generates cash inflows
- 0f ¥ 40,000, ¥ 30,000, ¥ 50,000 and ¥ 20,000 10% rate of discount. Calculate
profitability index.

Years 1 2 3 4
Discount 0.909 0.826 0.751 0.683
factors at 10%

SECTION-C

Answer any three questions. Each question carries fourteen marks. (3x14=42)

7. Briefly explain the factors influencing the amount of working capital.
8. Explain the meaning, scope and importance of financial management.

9. Sonu Ltd., company has equity share capital for ¥ 10,00,000 divided into shares
of ¥ 100 each. It wishes to raise further ¥ 6,00,000 for expansion plans. The
company plans the following financing schemes :

a) All equity shares.
b) X 2,00,000 in equity shares and ¥ 4,00,000 in debt @ 10% p.a.
c) All debt at 10% p.a.

d) ¥ 2,00,000 equity shares and ¥ 4,00,000 in preference share capital with
rate of dividend at 8%.

" The company has estimated EBIT at ¥ 3,00,000. The corporate rate of tax is
50%. Calculate EPS in each case. Give a comment as to which capital structure
is suitable.
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10. A company is considering purchasing a machine. Two alternative machines are

it

available machine — A and B each costing ¥ 1,00,000. Earnings after depreciation
and taxation are expected to be as follows :

Years Estimated net cash flows
Machine — A (Rs.) Machine — B (Rs.)
1 30,000 10,000
2 40,000 30,000
3 50,000 40,000
4 30,000 60,000
5 20,000 40,000
Calculate :

a) Payback period
b) Net present value, at 9%.
Assume straight line method of depreciation.
The discount factor is as under :
Year 1 2 3 4 5
DF @ 9% 0.971 0.842 0.772 0.708 0.650
Following information is given to you, evaluate the projects by using return on
investment and NPV methods.
Project X ProjectY ProjectZ

3 z 4
Investment i 70,000 /80,000 90,000
Return at the end of 1! year 40,000 50,000 55,000
Return at the end of 2™ year 30,000 25,000 40,000
Return at the end of 3™ year 20,000 25,000 20,000
NPV may be calculated at 20% discount factor. "
Year 1 sl 3

DF @ 20% 0.833 0.694 0.578
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QTN - D

CBRRTTTR DT BINEA UBOR. B DI AT L908. (5%2=10)
1. a) Tro%oAR J§ DOTTERD ?
b) B0y NOREBTED DO ?

C) AE TYR0B DOTTERD ?

d) 3e. 10 dadwcde ddmﬁd@@ D, 5 RIRFNY 8083 R@ooees T 40,000 nert BR3
a%:’ae% eﬁé@&

e) ORIV WOBTIPT CINT)TTTR 4 BOBNIRY, SR

f) DoroswE woEm¥ X 10,00,000, Feawgs =5°¢; X 2,00,000, THRCIVET 5CHFE
5 SR, Bedsd TROIV wormed X 1,00,000 =B, F09R0 BRETOT,
BOTIGROND.

g) RN, FeBoN &0, 33T DTVRD BRTONIR), S92
QTN - W
BENS CBRFTOTTR =T BIROT UBOR. B3 Tt 81 €208, (3x6=18)
2. DT P03 TRTNYY, FodBwoN DBOR.

_ 3. TEITAT ABFBFHOD E@Q‘bé‘r@?}.& BROR.




N0 R 5- SS - 471

4. 2000 wéﬁp 028030330 BBBOROST :
P3N Wevees — 60,000
20T BT R0’ WS~ 12
0 233 — % 60,000
@ 23
wBoORIS $e3, B3 P63 —T 6
ud L.
Be. 10 © O ok - T 1,20,000
DR, WO RSN, (Leverages) &gzos.
5. 2,003 239,083 gm@ws 2,003 0306303 FRTI3 X 12,000 1eix) e. 9 0 003RoDS
3339, 3¢ ekeBRd T 1,000, X 2,000, T 3,000, T 4,000 3033 T 5,000 R T2

SErE 20350, 5 SRFnescH e X 12,000 nd @erioo Aegse ? Ao
.

6. 1,00 clerdodn TS > Be0 B T 1,00,000 258 BFS SRR wiBOD
T 40,000, ¥ 30,000, X 50,000 a’::%:_o % 20,000 ﬁ#zﬁg{é’e. 10 3 Do3RCDSE WITD,
GUBDORZT. AT RLPODR ﬁ:amgoédﬁgl eﬁéﬂmé.

Years (SReRD) 1 2 3 4
3e. 10 g 0odod  0.909 0.826 0.751 0.683
©03
TN - A
CIRFTRTSR 3 FZRR evgdr. T3 TI7i 14 €908, | (3x14=42)

7. DOREHOR WOBTYS FRST e Feows WeddR 203RERY, HodFemN HEI0R.

| 8. B:omoad AVFBBOD LT, Wy B3 RoBS,NFI), HWOA.
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9. RReSd AODNB FoTAOIH AR, Fedd woBmwe T 100 3 &wedssesd> I 10,00,000
RYINTZT. FoTICN 352 DRTE odpexrdmn X 6,00,000 m#si BURD {az:éfbéd.
£330 BSPBOBOB BEITORID d%\%odasgt 030023333,

a) DV TBRE, FeoN.
—amg ES’E'&ES@ < 2,00,000 e?i)éo Je. 10 © o3 §d© % 4,00,000.
c) «205p It 10 8w TZT9).

d) ERF, Beoned X 2,00,000 03 7,33 2, 3esondd X 4,00,000 3e. 8 B P03
aeialUN

om0 EBIT T 3,00,000. 301303 301 33 3¢. 50 Lol ot Gt 303 ﬁ@ﬁododa (EPS)
66 Tod m O3RN WoR=Y T3 ARTDINT 20T AT AR

10. 2,05 B0TR10 203> CD0ZI V0BT TORESRIT 6008 — A 233 B. B8 0303
2365 ¥ 1,00,000 R R0 Forios> o3 domed ies s Sdomod RDesHING

SRR O VTP VN TOY
o203, - A %) 0308, — B (%)
1 30,000 10,000
2 40,000 30,000
3 50,000 40,000
4 30,000 60,000
9 20,000 40,000

a) SHoTOWE LT
b) dF,$ TRYE &3Py, (NPV) 3e. 9 SBT3, FeBRDY ARFTY eww

O3NS 303NRL :
war 1 5 3 4 5
00330H8 @e3  0.971 0.842 0.772 0.708 0.650

(@ 9%)
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1. 20308 Rrbscho VAT, BRREND e Y8 WP B RS 5P (NPV)

é)qsadr{védgt UTO3ReNR oimeuéodaa‘:g{m‘aqseém.

odnews X
4
BRRE 70,000
BRBOSe IRFT @oZ B NYB 40,000
SOBRSe BRET WZT 193 _ - 30,000
BR0Se BRET @0IT NS 20,000

oSnems Y

3
80,000
50,000
25,000
25,000

BRYB dB Y #5°¢, (NPV) =) Je. 20 T DoSRODS 0339, SEH8.

wRE 1 2
D03n0he @e3 @ 20% 0.833 0.694

3
0.578

SS - 471

o3nems Z

¢
90,000
55,000
40,000
20,000
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Third Semester B.Com. Degree Examination,
November/December 2019
(B.Com. Regular/Tourism/LS/SP)
(CBCS Scheme — Freshers)
Commerce
Paper 3.4 — FINANCIAL MANAGEMENT

Time : 3 Hours/ [Max. Marks : 70

Instructions to Candidates : Answers should be completely in English or in Kannada.
SECTION - A/ &0 - &

1.  Answer any FIVE sub-questions. Each question carries 2 marks: (5 x 2 = 10)
0d»=B)@erte DB VS-S evgdl. B3 TIM 2 wosries

(a) What is Financial Planning?
BTRy odecwdod &ac;:frqu 5P,

(b) What is profit maximisation?
UIT NORETTE DOWTERO?

() Give the meaning of cash in flow.

BT WY IS e:ac;ﬁt»‘ﬁaigl Qed.

(d) Name the four sources of working capital.
Do, T0DE VTS WOBUT BOAONYT), BZ0A.

() What do you mean by Dividend?
eRI03 HOBTEBO?

(f) What is Investment Decision?
BRABT AT 20WTeTO?

(g The investment of the project is Rs. 2,00,000. Salvage value is 15% and its
Additional W/C is 20,000. Calculate Average Investment.

odeensod sRBF Tw. 2,00,000 e;sﬁcdod M0 QUYE dfacgs Be. 15 eﬁﬁmo, %a&oga
Fo0hF U038 WoB=e% T, 20,000 ﬁ@m@ﬁ [0220 m&ﬁo.ba’% TORY LHOVD.

1/6
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SECTION - B/2ywon - 9

Answer any THREE questions, each question carries 6 marks : (3 x6=18)
CdRF)WwWTR BT BINIR eu3d. 3,3 3311 6 wozned :

2.  What do you mean by bonus shares? State the advantages of bonus shares.
WBeess® Redondd 20TTeR0? wm)ne eabﬁxaoﬁ%*ﬁg{ &892,

3. Briefly explain any six determinants of a capital structure.
WoBTY Dol Boedt TOZaR Devdss adm)TIE3R 330 e.aoémfd& RogBaN D=0

4. Delta Co. is planning to buying a machine. Two alternatives P & Q, each costing
T 50,000. You are required to call centre profitability index (PI) under 10%
Discount rate the expected cash in flows is given below :

Cash in flows )

Year Machine P Machine Q

1 25,000 42,000
2 28,000 39,000
3 31,000 36,000

Discount factor @ 10% is as below :

Year : 1 2 3

Discount factor @ 10% : 0.909 0.826 0.751

den,  sozAodn abodReITONIB),  DBeBRD 0IREBIT), TR BODNIB) HVBH
/odoo&aedﬁdssmﬁ UG T 50,000 rwein) o0Bs obodpcavdend SRcy wé B0
| $unmod vomERens

SR W BO) J)

SRE  aboRReITOHP  abhodwe@Ecn O

1 25,000 42,000
2 28,000 39,000
3 31,000 36,000

F9NT Be. 10 7R3 B30T 35000D0B H0BER oo R cBTTnne oyl Mzaﬁedaii BOBI HBOWD :
2[RF 1 2 3
3B 00 10% : 0.909 0.826 0.751

2/6
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S.

From the following information calculate operating, financial and combined
leverages.

Sales Rs. 10,00,000, Variable cost 30%, fixed cost 2,00,000, 10% Debenture
capital is 15,00,000 and tax rate is 50%.

BTt Tt3TLT 03 WoBNYOW, Fo0REBTE, BWTR ) Foodeed IRTBe IR, oo
o3ROV

BR00t3 . 10,00,000, wresrs $i3, 30%, 38 3@, Be. 2,00,000, e 10 moB3NY
woB=Y G, 15,00,000 03 301 16 50%.

Evaluate the future value at the end of five years of the following payments
at 10% rate of interest.

At the end of 1st year Rs. 6,000
At the end of 2»d year Rs. 8,000
At the end of 31 year Rs. 10,000
At the end of 4th year Rs. 12,000

At the end of 5th year Rs. 14,000
B TINT D30Ty, T3 IRFB pdodd, Scswe 10 Tod W FIRTT 5 IR
TR0 ¥TET PIH; IFPY[M), FOBO &SRO :

Se. 6,000 SAtosod SR ©oI T,
G. 8,000 20&@TE0d SR @03 B,
Se. 10,000 Soeddod SaF @033,
T. 12,000 meedod IR 9033,
g, 14,000 aasodh S 80363

SECTION - C/ % - %

Answer any THREE questions. Each answer carries 14 marks : (3 x 14 = 42)
BINT 0IRT)TBTH Joetd BRI sV & =231 14 @osnwd :

Explain in detail Goals of Financial Management.
HRTIR VBEBE0 ULl eBNYRY, BDHTZN SO

What do you mean by working capital? Explain the determinants of working
capital.
FIOLF VT WOBTIY OBTEROT? BT Soed FOTZa=0 Dedo 0BRYEY, AZ02.

3/6
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9. The information given below is related to “E” Company Ltd.
Initial investment is Rs. 2,00,000
Salvage value is 10%
Economic life of project S years

The expected profit before Depreciation and Tax is given below (PBDT)

Year PBDT
1 38,000
2 48,000
3 58,000
4 68,000
5 78,000

P.V. factor (@ 10% Disccunt rate is
Year : 2 3 4 S

P.V. Factor: 0.909 0.826 0.751 0.683 0.621

You are required to calculate ARR and N.P.V.
E 30301 2020028 S»&3000 3¢30803003T :

BABINYL Je. 2.00.000
euPs :)o’c‘)egs 10%
20D 5 IRENLD

POTIRUIT, FSTE =3 301IN038 BRTVIT =) (PBDT) 3¢¥50@080I3E

IRE ATTY o3 307iNo8
0098 o (PBDT)
1 38,000
2 48,000
3 58,000
4 68.000
5 78,000

Be. 100 38328 T -
DARE 1 2 3 4 S
B33 B0: 0.909 0.826 0.751 0.683 0.621

Soeef 3L DU TRHSOD 23200R0T K)ﬁ;ﬁ TS 3}‘?% B03) 30930 % HOIT BTST), TOWO
&BOWD.

4/6
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10. The Ranga Co. Ltd. operates its business with a equity capital of Rs. 50,00,000 of

7.

% 100 per share. Co. wants to raise further T 30,00,000 for major expansion

programme with following 4 alternative plans :

(a) All equity shares

(b)  All Debentures at 10% interest rate

(c) ¥10,00,000 from equity and X 20,00.000 from 10% Debentures

(d) ¥ 15,00,000 from equity and ¥ 15.00.000 from 10% preference shares

The Co. Tax rate is 50%. Calculate E.P.S. of each plan of E.B.IT
is ¥ 8,00,000.

dori 30T DabIT) BRI Tw. 50,00,000 te. 100Re ma’uaﬁié RED WOBTISB 00N
Rlevbl &5r&m§d% - 3T, TS0 eaa,?};ﬁd@pnaﬁ E‘:a;__;fﬁ S, 30,00,000 eﬁ%é:@o&)d% 9508
4 225 oixaezsa?ri%fmq 0WIWB RN :

(a) whd), M§Eﬁ§%{ md:aagj Aecondor SEcinmmo.

(b) W), E:S.fagﬁai% 3e. 103 mosgndon =& 0155151

(c) ©w. 10,00,000 mmqs Redonor =03 w93 T, 20,00,000&3L 3e. 100
MOBI NPT BH 0.

(d) Dn. 15,00,000@t m&aa{s Redongor =03 evdd O, 15,00,000@3t e 100 mﬁﬁ_ﬁ
ReonPor T a30ZT.

go3dad 0t @S Be. 50 whcy, EBLT. Ge. 8,00,000 esdd 38 alecwdoh B3
HedS eoyIRY (E.P.S.) 30w B0,

From the following information calculate pay-back period of both the machines
Raja and Roja.

Particulars Machine Raja Machine Roja
Cost of each machine 5,00,000 6,00,000
Life S years 6 years
Co. Tax rate » 50% S50%
PBDT (profit before Dep. & Tax)
Ist year 1,10,000 1,80,000
2nd year 1,40,000 2,10,000
3t year 1,70,000 2,40,000
4th year 1,60.000 1,90,000
5th year 1,30,000 2,00,000
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IIT Semester B.Com. Degree Examination, March/April - 2021
COMMERCE
Financial Management
(CBCS Scheme Repeaters)
Paper : 3.4

Time : 3 Hours Maximum Marks : 70
Instructions to Candidates:

* Answer should be Completely in English or Kannada

SECTION - A
At AL S -

Answer any Five sub-questions each answer carries 2 marks. (5x2=10)
CIRYmRTTL 5§ WUT JINeR wuBdR B QVZTE 2 €08NT0.

1 a)
b)
¢)

d)

g)

What is meant by financial mix ?
DEOTAT 0T, 63 OB 2

Name two principles of financial plan. :
BEITAT GRS ITHE IRV B0

What is profit maximisation ?.

ST TOKFTTE 0BT ?

Name four sources of working capital.

T2, FICDFATS WOTDHE TRONTRY, BROA.

What is investment desition ?

BPRAE JGFT Q0TI ? _

Sales ¥.= 500,000 contribution .= 300,000. Calculate variable cost
Zwoets X.= 500,000, demort T.=300,000 wmeonoes 3303, BOTORRCD.

One investment of the project is ¥.=20,000 salvage value is 15% and its
additional working capital is ¥.=2,000. Calculate average investment.

odperded Bped T.=20,000 onw), «T0 wved SRy Be. 15% N3 TR0
FoODFATS Worw$ X.=2.000 ﬁ@m@ﬁ ploprile a@’m@%odmaq FOTHLROWD.

[P.T.O.
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' SECTION - B
QR - W |
Answer any Three questions, each answer carries 6 marks. _ (3x6=18)
CIRYTREIR W TINCNH LUZ0R. B eVBTE 6 LOBND.
2.  What are the different investment evaluation methods 7 -
TeRE FIETTHD BREOD PNTIY, SR
3. What do you mean by bonus shares ? State the advantages of bonus shares.
BRRRT WSO Q0BT 7 B[N IBLONTR), A
4. No. of units 500 selling price T.=40 P.V. variable cost T=15 PV and Fixed cost I=4000
Interest £.2500. Calculate financial lavarage.
Operating levarage.

PTNG Nesj’ 500 Snoees 33 T=40 2,000 wé&%@ 2B 523 =15 uocﬂa was%%
Nd 5323 ?—4000 we, T.2500 meavodm O=Tees® 5ozsaoo@cﬂaa

E‘OSJQF % 9=’
5. Project requires 2.75,000 initial investment for payable of an equipment. Its annual
" income before tax and depreciation is estimated. Tax Rate 20%

Ist year 3.=25,000 3rd year I.=45000

2nd year 3.=35,000 4th year ¥.=55000
Calculate present value if discount factor @9% is as follows.
Year 1 2 3 4

DF@%% 0917 0.841 0.712 .708
2,00 c3RexEoD @9,80%8 375,000 ST S5 0drexsSonon Bwocd B@te @08y S07
' %@odw@cﬁ%ﬁo&’ Semeo 33 0ed [T,

 RseFe IaF T=25,000 =edse IaE IT.=45000.
Q0BIe ImF T.=35,000 . me%gﬂe Z=e T.=55000

gont 3@ 20%
Calculate present value if discount factor @9% is as follows.
Year 1 2 3 4
DF@9%% 0917 0.841 0.712 .708

6. The following data selects to EM Co and ES Co.
Particulars EM ES
5% debentures 20000 --
Equity share capital
(Shares of .10 each) 250,000 250,000
ROI 60,000 65,000
Calculate E.P.S. of both companies.
EM 302 3020 ES 300 @0&d 33 068 am),

T EM ES
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10.

5% o0 BHNR 20000 [UY,
AR, FeTd WO
(38 Recd %.10) 250,000 250,000

Bead S ooyl (ROI) 60,000 65,000
B)& Feo3 ooy (E.P.S) 80Eeioud0.

SECTION - C
PR~ A

Answer any Three questions, each answer carries 14 marks. (3x14=42)
O3RPTETR B BJNER LI0R Bé wTE 14 50BN,
Explain various forms of dividend.
DG TRBT ToyIROBNTRY, SIOA.
Briefly explain the internal and external factors influencing capitla structure.
20T Te3Red Foee BomIR WeTHR 0308 WY W, VOBV ROETETN QTOAD.
The capital structure of the Quarantine Co Ltd consists of an equity share capital of
Z=10,00,000 (shares of T=10 per share) and ¥=10,00,000, 5% debenture sales increased
by 25% term 200,000 units to 250,000 units. Selling price is T.=10 per unit variable
cost T.=6 per unit and fixed cost amounts Z.=250,000 , income tax rate is 30%.
You are required to calculate.
1. The degree of financial leverage 200,000 units and 250,000 units
2. The degree of operating leverage 200,000 units and 250,000 units.
3RJES 2030 wommes 2.10,00,000 (I8 Heos 23S X.10) =02 3.10,00,000, 5%
OB, N, VR0 3B 25% oD, BHRNTIZT. @03 200,000 Pen@os 250,000
DUBRIR 208 IRoew B T.10 p.u BT &, .6 p-u AT 528,%.250,000 Clnplove
3on 3@ 30% TOWoRBCAD.

1. Bermeas O=des 200,000 gpeener 250,000 a;’g!ésﬁﬁ@ﬁ
7. meanrwcsE Omdes® 200,000 Fewnen 250,000 PeBnen

Co-vaccine company is considering the purchase of machine. The machine X and Y
each consting T.=400,000 are available. Earnings after X and depreciation is estimated
as follows. ‘

Year =~ X - DFE@15%
1 115,000 105,000 0.869
2 120,000 115,000 0.756
3 125,000 120,000 0.657"
4 115,000 130,000 0.572
5 110,000 120,000 0.497

[P.T.O.
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11.

Evaluate the projects (1) pay back period mathod (2) Net present value

Co-vaccine co. 2,003 0308, B, DBeORED ZOdF@NtSJ QTR [RTO 0303,NeDd YT,
2,8 008, 233 T=400,000 éa o308, Ci)ocﬁ %8 mr ATFY ==y 3ort-503T éa @eé
Clanlevo i eTaptarlantatal

RRE ooz, X - cdog, Y 3RS 0o 15%

1 115,000 105,000 0.869

2 120,000 115,000 0.756

3 125,000 120,000 0.657

4 115,000 130,000 0.572

5 110,000 120,000 0.497

CHOF TR, FROTOR. (1) Lowws &I TG (2) ARY BRI SPe)

Nova Ltd Company has equity share capital of Z.100,000 divided into 100 each. It
wishes to raise further .60,000 for expansion plans. The company has following
financial schemes.

(a) All Equity shares

(b) 50% equity shares balance 10% debentures

(c) .20,000 equity shares balance 10% debentures

The company has estimate EBIT of ¥.=30,000. The corporate tax is 50%
Calculate EPS is each case, give a comment.

S AEdE® FoTICD AORINT, RO worgmed R.100 Te. SN BeSodHd <.100,000
NPINTIZE. ToBAOTN 33, DITE odroemﬁmﬁ ?60 000 n¥sy wegmen faasnoécﬁ 9T B8
%@#ﬁowoa’ BEITORAD wdéodoﬁa o3Rez3 .

(@) QP ABEVER 5@63?1@05

(b) 3Jev® 50% uozﬁm@# AOTNT; SETONPOT o098 &3 10% MO T3,n9os

() .20,000. ORI, wet:bﬁ@od en VR 10% o3 neos

Fomod EBIT %‘.=30,000 FoRQ 3on Je. 50%

BT XS Ned ﬁ@%cﬁa&% a%im% W0 IR WOERY TN ARTTNT 39K,




